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6\ :\H\‘\H\‘\H\‘HH‘HH‘HH‘HH‘\H\‘HH‘HH:
> r Prompt J/y 1
8 10°F iy ~ iy oMS
= [ lyl<24 ]
< 10¢ e <
%'_ E .@@ pp global unc. 2.3 % 3
% 1% ..?@' PbPb global unc. tgg://(‘]’ é
Zg l: e ]
= E e E
:'/10_2; HH—c— ;
x E L S E
? F oopp —— ]
o'_lo—S L =
o E m PbPb, Cent. 0-100% _—
o r —_——
E10—47Hwm‘\HH\mmumHmumuwmwuu

x 0 5 10 15 20 25 30 35 40 45 50
@ P, (GeVic)

PbPb 368 ub™, pp 28.0 pb™ (5.02 TeV)
31'2"P‘“t:]/d)“‘”‘”‘”’
£ L Promp ]
T CMmS |
E L 6.5<pT<50 GeVl/c i
5 L ]
’Tg 0.8}0 pp pp global unc. 2.3 % ) {
z s " m PbPb, Cent, 0-100%  PbPb global unc. *34 06 ]
£ 0.6~ ————— 7
\; L —tO— ]
Q 0-4j ——
IS L ]
- L ]
c)é T N IR NI RR I N

0 04 08 12 16 2 2.4

PbPb 368 pb™, pp 28.0 pb™ (5.02 TeV)

’a :H\\‘H\\‘H\\‘H\\‘HH‘HH‘HH‘HH‘HH‘HH:
> 1 J/ from b hadrons h
8 10 g J/LIJ . H+H' CMS E
S [ olyl<24 ]
_g-}_ F 6 pp global unc. 2.3 % E
% ]_;7 %i@' PbPb global unc. tggs//g é
2 |
Zélo_lg e E
= F e E
2, ol HH—c— 1
x 10°F oy 3
@ Eoopp —_— oy :
040—3; —a— |
o E m PbPb, Cent. 0-100% ———
S F —a—
.810-4 T T N FTUEE FUUEE FTUEE ST SEw SUww S

x 0O 5 10 15 20 25 30 35 40 45 50
@

° © =
o ™ N [N

o©
~

o

B x do/dy or B x (l/TAA N,,5) dN/dy (nb)
N

P, (GeVic)

PbPb 368 ub™ pp 28.0 pb™ (5.02 TeV)

L L B B
L J/y from b hadrons
ARV T

O
<
(0]

L 6.5< P, < 50 GeV/c
O Pp pp global unc. 2.3 %
+3.4 %
B PbPb, Cent. 0-100% PPPb global unc. ' o

!




